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BrZ H27.0. 11  BRE  RFiE (@E) 192728 5 | 11 3 487 | 6.6 | 84.2% 26.3%
s4a7E H28.3.20  =dm  BAMEE Z2iE 1819810 1 1 473 7.9 |94 4% 55.6%
£EE HS. 7.4 BEE B1EE T |16208/11 5 0 480 9.5  |100.0% 68.8%
BIEA H28.10.30 iR RIER  TEM |971F| 4 3 2 490 7.3 | 77.8% 44, 4%
X5 BRAES |BMS. No. | I¥= |z
F5 4 EO RS 4823 | 7.8 |89.1% |48 8%
BESE (TH28~8H2E6E) OBRTE 2 0 BO TR 4817 | 6.4 |70.7%| 28 6%
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(I & -3 1L) #HE: hPhPdT —ZE(EER)
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® HE44LE
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= HNEF LS |E£EER8| & BOR HEOR HEEMh BEih LB R B (kg) (e (m (m) S8 EvoNe | 2R % & 5
1|BREE H31.320 |EZ|MESE BX R3.7.1 274 | 5325 60.0 9.3 3.2 73.8 4 1.00 A3 |RE—FUZFE—J+t 48—
2|E H31.327 |EB|BEX F11EE R3.7.27 28.0 | 501.0 67.0 8.0 1.7 75.7 7 2.00 A4 |[+FIBRBAEVE—
3| H31.3.30 |EZ|(FE1EE |&F R3.7.26 279 | 452.0 | 49.0 7.3 36 71.8 6 1.67 B4 |R3—EV=FE—TJt 48—
4| BTE H31.4.6 RBIFE1TEE |REH R3.6.24 266 | 498.0 | 49.0 7.7 25 72.4 6 1.67 AL |ERBATIS
HERES H31.411 |EB|FE17EE |FEE R3.7.26 275 | 619.0 65.0 10.5 1.8 75.6 8 2.33 A5 |HEEBRTIS
6|#hth H31.4.14 |EB|FEH EiER R3.6.29 265 | 532.0 72.0 8.7 3.3 74.9 7 2.00 AL |ERBATIE
1|&% H31.417 | £B|REA =03 R3.7.14 26.9 | 505.0 69.0 9.3 2.6 75.9 11 4,00 A5 |HERERBATIE
8|HN H31.421 |EB|E1EE |FXE R3.8.5 275 | 603.0 78.0 9.1 35 74.9 7 2.00 AL |HEERBAETS
10[EH R1.5.7 EB|EKRER TEA R3.9.27 28.7 | 5345 | 710 8.0 1.8 75.7 9 2.67 A5 |RE—FUE=FE—Jt 48—
1| BHL R1.5.31 EB|EEX L1 B R3.10.25 289 | 5295 67.0 8.0 1.6 75.3 5 1.33 A4 | RE—EUE=ZFE—Jt 48—
12|E R1.6.1 EB|EXRK BEX R3.10.25 288 | 4815 | 46.0 7.0 1.4 72.7 6 1.67 A4 |RE—EUZFE—Jt 48—
13| kR R1.6.16 EB|FE1TEE |RF R3.10.6 27.7 | 564.0 84.0 9.2 2.5 77.2 11 4,00 A5 |ERBAMIS
14| &BEAK R1.6.20 EB|EEX TtFER R3.10.12 278 | 548.0 68.0 8.0 1.8 75.1 4 1.00 A3 |RE3—FEUZFE—Jt 4—
15|B% R1.6.25 EP|BEX E2F X R3.9.27 27.1 | 4085 64.0 7.1 1.7 75.8 6 1.67 A4 | RE—FUZFE—Jt 48—
16[BfErR R1.7.10 |XRZ|E1TEE |FEB
17| $8 % R1.7.30 [E#|REA ER B
18]t H31.3.7 HT|(ERES |E11EE R3.8.1 28.9 | 4600 | 62.0 8.2 2.2 75.2 6 1.67 A4 |ERBAETIES
19| DC H31.43 HT|E1REE |%F
20{25C H31.4.4 HT|EXR TE7D8 R3.9.30 299 | 4815 55.0 9.0 3.4 73.5 5 1.33 A4 |RE3—EU=FE—TJt 48—
21| Ytz H31.4.5 HT|E1TEE =53 R3.7.13 27.3 | 4085 52.0 8.0 2.8 73.9 5 1.33 A4 |+FIRBAtEVE—
22{hoFEN H31.410 |9 |5k EES R3.9.6 289 | 375.0 48.0 6.2 1.9 73.4 4 1.00 A3 |[RA—EV=FE—TJt 48—
23|EC H31.4.16 |HF|FE1EE |EZEE
24|KIZD% 8T R1530 |9 |BREER4 |FEB
25(#D2V 8 R1531 |7 |wEEE [ LB
26| EHD R1.6.10 HT|ESEE |F17EE
27| 5hY R1.6.11 HT|FE1EE |RF R3.11.16 292 | 5345 67.0 9.3 3.4 74.6 8 2.33 A5 |[RE—EV=FE—TJt 48—
28D 5< R1.720 |7 |RTE3 [F2FER
B0 28.0 | 503.6 62.8 8.3 25 74.6 6.6 1.93 4R L 84.2%
n= 19 19 19 19 19 19 19 19 5% kE 26.3%
e B | #BE | o—x| RS BT 58 R eI EETES
B #h (kg) (cm?2) (cm) (cm) (BMSNo)|  (9%) (%)
£8 (n=14)] 27.7 | 5220 | 64.9 8.4 2.4 74.8 6.9 83.3% | 25.0%
HY (n=5)| 28.8 | 451.9 56.8 8.1 2.7 74.1 5.6 75.0%
24k (n=19)| 28.0 | 487.0 60.9 8.3 25 74.4 6.6 84.2% | 26.3%
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1|FEEL H31.3.29 |E£#|EEL TE R3.7.26 279 | 467.0 55.0 8.0 2.9 73.5 4 1.00 A3 |EEBATIS
2[EEX H31.331 |EZ|B\a%K F6xX R3.7.29 28.0 | 472.0 66.0 7.6 1.6 75.7 7 2.00 A4 | RE—FUZFE—Jt 48—
3[E® H31331 |x#|FaE |Bex R3.6.29 27.0 | 4480 | 530 8.3 2.1 74.4 5 1.33 A4 |EREATIS
4|l H31.4.4 EB|REA BAK R3.7.26 27.7 | 4310 60.0 7.9 2.3 75.1 8 2.33 A5 |HEBAMIS
5|SEIRE H31.4.6 EP|ERERE |REB R3.7.9 271 | 535.0 56.0 8.3 1.9 73.9 7 2.00 A4 |HEEBAWTIS
6| TR H31.422 |EB|ER(EHITES R3.9.17 28.9 | 493.0 62.0 8.2 1.8 75.1 8 2.33 A5 |ERBAMIE
1EE R1.5.2 EB|FE1TEE |[EX R3.7.26 26.8 | 503.0 66.0 7.6 2.5 74.6 7 2.00 AL |BEEBATIS
8 as— R1.5.6 r A EES Z{&165M9 R3.9.1 279 | 407.0 53.0 8.1 1.7 75.1 6 1.67 A4 |HEEBATS
9= R1.5.13 RB|EX97 |RTF
10| 1R R1.5.28 £ | R ER R R3.10.21 28.8 | 421.0 52.0 7.0 2.0 73.8 5 1.33 A4 |ERBATS
1] R1530 |X%[H/E85DITEM R3.11.15 | 296 | 5350 | 74.0 8.2 2.1 75.8 10 3.00 A5 |RREBATS
12| RITE R1.7.20 EB|REA EEE R3.10.12 26.8 | 473.0 62.0 8.1 1.8 75.4 9 2.67 A5 |RE—EUZFE—Jt 48—
13|beE H31.219 |HF|FE1EE |REA R3.9.1 30.4 | 446.0 76.0 8.2 2.6 76.9 8 2.33 A5 |ERBAMIS
14| E&KIEHE H31.3.15 |3 |BEHK BRE R3.10.1 30.6 | 515.0 93.0 9.8 1.7 80.1 11 4,00 A5 |HERBAHTIE
15| 5 H31.3.16 | T |&REA BEE R3.10.15 31.0 | 4420 98.0 7.0 1.4 80.0 12 5.00 A5 |HERBHMIE
16|55 H31.410 |3 | Tk TE7D8 R3.9.16 293 | 4590 | 490 7.6 1.3 73.9 5 1.33 A4 |HERBAEMIS
17| 1F51E 5K H31.414 | &HT|fEF iz R3.11.4 30.7 | 4540 66.0 7.9 3.1 74.7 8 2.33 A5 |HEEBEATS
18|1zAh R1.5.7 HT|EEX Ea R3.11.16 30.4 | 538.0 88.0 10.6 35 71.8 12 5.00 A5 |RE—FU=ZFE—Jt 48—
19|SEADIEA R1.5.18 HTIE1TEE =53 R3.11.16 30.0 | 466.0 85.0 10.2 2.6 79.1 10 3.00 A5 [RE—EV=FE—TJt 48—
iy 28.8 | 4725 67.4 8.3 2.2 75.8 7.9 2.48 AR/ EE 94.4%
n= 18 18 18 18 18 18 18 18 FETES 55.6%
w5 R | BE | B—R | I\T BT 8 R eI TS
A &5 (kg) (cm?2) (cm) (cm) (BMSNo)| (%) (%)
E8 (n=11)] 279 | 4714 | 599 7.9 2.1 74.8 6.9 90.9% | 36.4%
3 (n=7)] 303 | 4743 | 79.3 8.8 2.3 77.5 9.4 100.0% | 85.7%
2K (n=18)| 28.8 | 472.8 69.6 8.3 2.2 76.1 7.9 94.4% | 55.6%
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= REL L5 |EERB| B 502 | AEOR H£E | BE | LFXAR B | (e () e o 2 AR & 5
1|HFEZE H31.225 |E£B|FE2EE |REA R3.7.7 284 | 578.0 | 104.0 10.0 3.0 79.7 12 5.00 A5 |HEERBATIS
2| B H31.4.10 |X£#Z|EME85N{REA R3.9.16 293 | 5240 | 870 8.4 2.8 77.3 11 4.00 A5 |ERBHMES
3|E#H H31.4.25 |£EB|RT Rtk R3.7.29 272 | 3570 | 570 6.2 2.2 74.4 8 2.33 A5 |REREATE (BRI ATEEME)
4|FETH R1.5.3 EB|BETFE TF R3.8.24 277 | 4735 69.0 7.9 3.1 74.9 10 3.00 A5 |RE—EUE=ZFE—Dt 48—
5|8E R1.5.18 EB|EEE REA R3.9.22 282 | 473.0 83.0 8.0 1.9 71.9 8 2.33 A4 |EHEBATS
6|FLEE R1.5.30 EP|EEE E£ER R3.11.15 296 | 583.0 96.0 9.0 26 78.3 12 5.00 A5 |ERBAMIE
ALishe R1.7.1 EB|FEER E£BE
8|EFE R1.7.7 b YRS I
M RESE R1.7.17 EB|REA =3
10[&LC H31.2.19 | & | EEE SEE B R3.8.24 30.1 | 507.5 65.0 8.7 3.2 745 7 2.00 A4 |RA—EU=FE—TJt 48—
11|FEL H31.3.9 HT|FE2EE |BE R3.7.9 28.0 | 468.0 81.0 7.9 2.0 71.5 8 2.33 A5 |RRBHME
13|HHELAK H31.3.18 | T |ILEK FEEE R3.10.12 309 | 4475 55.0 7.7 3.0 73.4 7 2.00 A4 | RA—HEUZFE—TJt 45—
14| 0mY H31.3.22 |®HT|&RIEA &% R3.7.26 28.2 | 486.0 83.0 8.0 1.7 77.9 7 2.00 A4 | RE—FEUZFE—Jt 48—
15| H31.4.4 HT|F1EE | FEB R3.9.17 295 | 485.0 73.0 8.1 3.1 75.5 12 5.00 A5 |BERIT—KIRXvh—FHIE
16| H31.413 |®HF|EE% TRA R3.9.10 290 | 471.0 83.0 9.8 2.6 78.5 12 5.00 A5 |HERBHMIE
17| H31.4.15 |oF|EaE |RBA R3.10.1 296 | 5250 | 76.0 8.6 2.3 76.3 11 4.00 A5 |EEBERWTHE
18|05 H31.4.15 |HF|dLER7 |HEFS R3.9.1 286 | 318.0 | 440 6.1 1.9 73.5 2.67 A5 |ERBATIS
19|HA R1.5.12 HT|F2FEB|E11EE R3.9.30 28.7 | 4575 75.0 8.2 1.7 77.4 7 2.00 A4 |RE—EUZFE—Jt 48—
20({YY) R1.6.5 HT|EERE2|REBA R3.10.15 28.4 | 447.0 74.0 8.5 2.3 77.1 11 4,00 A5 |[+FHIHEEBRAEVE—
21|LIFAK R1.7.9 HT|REE  FEEL
B3] 28.8 | 475.1 75.3 8.2 25 76.5 95 3.29 4R EE 100.0%
n= 16 16 16 16 16 16 16 16 5% kE 68.8%
e &g | BE | n—x | 3 BT 58 s I EAEETES
A& (kg) (cm2) (cm) (cm) (BMSNo)|  (9%) (%)
=8 (n=6) | 28.4 | 498.1 82.7 8.3 2.6 771 10.2 | 100.0% | 80.0%
H9 (n=10)] 29.1 | 461.3 | 709 8.2 2.4 76.2 9.1 100.0% | 60.0%
24k (n=16)| 28.8 | 479.7 76.8 8.2 25 76.6 9.5 100.0% | 68.8%
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= FHE4 4B |£FERAB| ® B0 | AEOR H£E | BE | LFXAR B | (e ) ©m m 8 oo | EE| & 5
1| B H31.2.24 |EBI(E17EE |FEE R3.7.1 28.2 | 560.5 64.0 9.2 3.2 74.0 4 1.00 A3 |[RE—EV=FE—TJt 48—
2|1B48 H31.3.8 EB|E1TEE |RF R3.6.17 27.4 | 591.0 79.0 11.4 2.5 77.8 11 4.00 A5 |HEBHEMIE
3[HB H31.38 |£#|&F BE(EE) R3.5.20 26.4 | 3990 | 640 6.5 1.3 75.9 5 1.33 A3 |EREATIS
HEZE H31.3.16 |E2|&ER EREAE] R3.8.10 28.9 | 468.0 55.0 8.4 1.0 75.4 9 2.67 A5 |HEBATS
5|K% H31.321 | EB|REH F1EE R3.4.1 244 | 5075 67.0 8.7 2.1 75.7 7 2.00 A4 | RE—EUZ=ZFE—Tt 48—
6| BIRATE H31.321 |ERB|F1EE |[XH x4t
7| RABTE H31.429 |EB|FE1EE |[FEB R3.6.3 252 | 545.0 70.0 8.3 15 75.8 7 2.00 AL |ERERBATIES
8|Baft R1.6.18 E#|21t2  |dtE708 R3.10.8 27.7 | 535.0 62.0 9.0 2.6 745 5 1.33 A4 |+FIRBAtEVE—
A EEES R1.7.30 [XE#|E1EE |FEB
10|34 % H31.420 |HF|E1EE [T R3.9.24 29.2 | 5080 | 68.0 9.5 2.6 75.9 10 3.00 AS  [HBEBRATIS
11]|HLV 5K R1.5.16 HT|FEIEE | FER
12| H & R1.5.22 HY | FEB RER R3.8.27 27.2 | 420.0 63.0 8.3 2.8 75.4 8 2.33 A5 |HEEBRTIE
iy 27.2 | 503.8 65.8 8.8 2.2 75.6 7.3 2.18 AR/ EE 77.8%
n= 9 9 9 9 9 9 9 9 S5ERE 44.4%
e R | BRE | B—R | N3 BT 452 R TS
A &5 (kg) (cm?2) (cm) (cm) (BMSNo)| (%) (%)
E8 (n=7)] 26.9 | 515.1 65.9 8.8 2.0 75.6 6.9 75.0% | 37.5%
53 n=2)| 28.2 | 4640 | 655 8.9 2.7 75.7 9.0 100.0% | 100.0%
£k (n=9)| 27.2 | 489.6 65.7 8.8 24 75.6 7.3 77.8% | 44.4%




